o @T}}g‘@ﬁ[ : COM&PMQ <<A )L/‘ = {02 (gn>:{’ W pespes to 33-?+:5W

Salowa' (-1 > S = mif*x 4 -]t = %[w\m}ﬂm )+ (10 i 1)+ (5] )=o¢et )

1=y ¢xl)(14) ¢~ )[

|

(555 = G s =B s e+ it |4

Cor 7= ()5l = (i‘@,’-‘[‘(ﬂwcf/ﬁﬁfﬂt ct=> <1>]]= O

Tows (A6, ) D= (670 ~(5 7= H -0 = | TV

Tosk2!  clede  C(AS) D) > 2 s, 507

we Viore  L(D5) 27 W, We need  (AS,)0 = 5,0 - L5, 00

- s> = (A (|+><—\) a1 VD

i(%ﬂ 42 A -1 = =D CHI=DCH) 4 4= l-sdH] 4 3—»><+s+><w}]>

=B et =04 ']> ljgﬁzf,l%sfwﬁ/‘) do¢rlmy -1av ] =

!

- (Sy?a: (4',57 ,T>1:}(7<+]+> (7{43 + <t}”>('f ]_}>J7\: O

s LA > = oo = BV

We aleo pre et fs“ S, ] &S, - S5
= 47‘% (\+7C |+ 7(+\Y,{ + D¢ 4400 ><+I> {5—~( [+> =] 41 7(%)(1‘1'>Z~l X
;”“L

= W{AH?GH\)( | = A=D1 4 ¢] 5 alt> 1= 541 4 4 [=2 ¢xl= (4]

Al V) == D AV DL) w al 2 S wx’)‘><+l~>(+)1

B LR L R e e L

N

< LB ey en) = 1m0

(5,551 0 =2 [cris o catey = al-de- o] = b

(Cs s, DV = 2B (=80 = T/

- bhopt oL 2T

Mealile (A< )" > ((AS,) ( e e

llds,&sm v%

Thas Cpa) D LS, > A<, s, 0T Yalde

e cads e e v, / ' L




b New WE WAUST rebeat  Tle checle 1 P @ W/ (espect o e [ StD Stare
- S &

:—q[ P> <41+ £~><—)] ﬂC‘O\MP‘“ e,

(577 = BL6 14948 16,0 + (50 1-2¢-1570]
note: 1G> = H(1t> 4 1~>)
=& [Tl 1) (G 3)3 3 s e )]
- %z“*le )6\41

<k

S (A e s 1Sty + <8P -0

F
A 3)]
T( /<+i+>4— 1) (- 1>+ -1~ >>+~ (ﬂ DL >>/(+t+?4¢’4 >ﬂ
- &[] = A"
- gLty q
Fi
RN R . =
e L - —
ig - ’(Ex)gy})} = !<°“f§%‘«“>f+\‘1‘>(“*,}>l (/awﬁﬁ"rf ),
\F// = }<Sx L4241 55> = St 1=2¢

AR
= ) (<+I%>+»(4+>)/(+l+>+ i >) ik+w>+cJ»(<l¢+( >n
fi%fl%_- =0
O o
Y, v
(D) 2 (AS,) D 2 H1drs, s,)s5>
bWie ©O 7o, }\)cﬁm ot v Clwt\amaW/dw Y Cone aLaur/
- (CAS,)* 0.

d(bS) 2LLhs,) > =




